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SeedRandom[1];
Li st Pl ot [Nest Li st [F, {Random[], Random[]}, 100000]] // Rasterize
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SeedRandom[1];
Li st Pl ot [Nest Li st [F, {Random[], Random[]}, 10000007,
Pl ot Range - {1.0058, 3.4002} +0.0002 {{-1, 1}, {-1, 1}}] // Rasterize
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SeedRandom[1];
Li stPl ot [ (10000 (# - {3.5, 3.571-0.266/1000})) & /e
Nest Li st [F, {Random[], Random[]}, 1000000],
Pl ot Range -» {{-1, 1}, {-1, 1}}] // Rasterize
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SeedRandom[1]; pO = {Random[], Random[]};
Li st Pl ot [Nest Li st [F, pO, 10000007,
Pl ot Range - p0+0.00001 {{-1, 1}, {-1, 1}}] // Rasterize
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